Class-9 paper term-1(2021-22)

KENDRIYA VIDYALAYA SITAPUR (FIRST SHIFT)

SUBJECT- SOCIAL SCIENCE
Time-90 minutes. Class -IX M.M-40
Instructions- 1- This question paper having 4 Sections A, B ,C and D .
2-All Questions are compulsory. Each question carried 0.8 marks.
3 -Attemt Questions by instructions given in each section.
SECTION-A /@3 -31 ( 20 x 0.8=16)
- Total 24 Multiple choice questions( MCQ) given attempt any 20 Questions./ % 24 a'g'ﬁ?sh_c»fﬁ
9T & del 20 UEAT P & T FLAT § |
Que.1- The tropic of cancer passes through./ & Y@T el &
A) Nagaland/aTeTels. B) Maharashtra/FAgRTSS
C) Orisa/3sr4r. D) Tripura/fqRT
Que.2-The easternmost longitude of India is/HRA FI HTA Yafa¥ qAR @M §?
A) 97°25' E. B) 77°6'E
C) 68°7'E. D) 82°32'E
Que-3-A landmass surrounded by water body is called?/S/eT & 39 REH & 4T &gd & ol IRT
RE & g & foRr g

A) Island/ gara B) Peninsula/draeara

C) Coast/de D) None of these/3T8 & &S AT

Que.4-The highest peak in the Eastern Ghats is./afRa#Y are &1 gafza R §?
A) Garo/aIRr B) Mahendragiri/&gg BRY

C) Anai Mudi/31TTS$#sT D) Arawali/3RTaelr
Que.5-In which year Napoleon Bonaparte crowned himself as the Emperor of France?/aqforaet

AATITE Y T A ATHST HI A fhg a¥ Divg fHmar?

A)1791 B)1805

C)1804. D)1795

Que.6-What is the capital of Manipur? HTOIQX I ITTer=il gr g2
A) Imphal/ZFrd. B) Agartala/3/9Rdell

C) Kohima/®ifgar. D) Dispur/feaqe

Que.7-The city of paris is located in/ART &Y T §

A) ltaly/3cel B) England/ZTeis

C) Portugal/gciamer. D) France/shid

Que.8-Who praposed the form of government based on the social contract theory?dm ISl
TSI @1 Rfeyid w 3MURd TWHR 1 o fhaar g ar 2

A) Karl Marx/a&Tel #TE. B) Gandhi ji/amefr Sir

C) Jone ILocke/ it olfeh. D) Rousseau/&&r

Que.9-The book written by Mountesquieu is/AT3CTHFY, GaRT fadl a5 fohdra?
A) The sprite of laws/g &Je 3iT% i, A) Social Contract/@rafeie gaEsitdar
C)Das Capital/grr fce. D) Discovery of India/HRd 1 @it

Que.10- Universal adult franchisee mean/aaifis AAIFR Fr 37




A) One person to be voted that's value is more than one/Ueh =afed & Hd & Hed Th & 3HfeH
B) One person is to be voted by all /G &1 AT U & IFd gaRT AT AT |
C) Every one can cast the vote/@¥T &I #Ad &I AAHR

D)Each Adult citizen must have one vote each vote have one value/9cde TITH cTidd T HAJ
9aTel Xl & 3Hh Hl &l Hed Ueh Bl ¢ |

Que.11.Which was known as direct tax?/alsT YcTeT &T g7

A) Tithe /eTs2r. B) Taille/eTsel

C) Road tax/ds® #X. D)Costum duty/&¥eH I

Que.12-The rulers are elected by the people/THeh T STAdT SIRT IsiTd

A) MonarchyRTsraar H, B) Democracy/diehdd #H

C)None of these/zsTH & HIg gl D) Dictatorship/dr=Temgr &

Que.13- Which of these is a characteristic of democracy?/®lsT T& wlehdd &I faAwar g2

A) People do not have the right to vote/@dll &I AT ol FTI FTUHR Adl

B) people cannot organise rallies/aaT THIS T HT el

C) Media is bias/FaR ¥TddT =Tgl

D) People have freedom to express their opinion./adli &I fFeafadd &r Teer

Que.14-Which is non-democratic country? @i Silhdiaeh 2T T8l &7

A) India/$TRd. B) USA/EgF g ARG

C) Africa/3TshienT. D) Pakistan/qiferedret

Que.15-Which state have highest literacy rate as per 2001/ 2021 & JTHRT & 3THR [EX IR
T FIERAT FaTfRE §?

A) Bihar/fSgR. B) Odisa/3arar

C) Kerala/aRd. D) Uttar Pradesh/3aX wcer

Que.16- The largest number of people in India are engaged in /$Rd & HaTTH ST ol gx ...
A) Tertiary sector/dcig &. B) Primary sector/9rafAs &3

C) Secondary sector/gfadiar &17. D) None of these/3ad#d & &5 g1

Que.17- During which season farmers of palampur grow jowar and bajra?/dqTefHaqY & ol SarR
3R SORT FT 3G fhE FAlGH &7 Fd § R 67

A)Winter/T&f. B) Simmer/aT#HT

C) Rainy/asT. D) Spring/s&@d

Que.18- Money in hand is example of/dehg tj\Gﬁ HT 3GTEI0T 87

A) working Capital/fshamefrer qgir B) Fixed capital/®ar$ it

C) Physical capital/#fifas . D) None of these/gd & &I g1

Que.19- Which one is rabi crop?/@ls T Ifa T waer g7

A) Maize/HFaT. B)Rice/drae

C) Jowar/=aR. D) Wheat/?‘l?c}”\

Que.20- What was main production activity of palampur? 9ref#iqY &I HTI Icdiged forar = ar?
A) Farming/@dr. B) Manufacturing/fafaaTor

C) Bee hiving/ﬂw qreleT D) Dairy farming/g@er 3cqreet
Que.21-Who was the chairperson of the drafting committee of Indian constitution?/9%a afAfa &
AT Hled T ?



A) Dr. Rajendra Prasad/3l sl 941G B)Motilala Nehru/AidtelTel sig®

C) Mahatma Gandhi/FgTcar e, D) Dr. Bhimrao Ambedkar/ai#ex HIeRIa 38
Que.22- Where was the 1931 session of Indian National Congress held? 1931 H HRA™T IS¢
I T IOAT FgT g7

A) Mumbai/Hss. B) Karachi/&rt

C) Nagpur/=TaTgR. D) kolkata/ahTeTerTell

Que.23-When was the Indian constitution adopted?/$TRclIIr EfqeTsl T e iafepe foham arar?

A) 26 November 1949/26 =lgsX 1949. B) 26 January 1949/26 St=iadr 1949

C) 26 January 1950/26 Si=1adr 1950. D) 26 November 1950/26 #deR 1950
Que.24-What is the base of a good democratic government?/31<el dlehcliTach TP T ITUR T
8?

A) It allows only to vote/Ad gat FI TAGHT.

B) It allows only a few people to enjoy right./Jg F& @Il &I g SR YeTed I &l

C) It consistent of financially sound gruop of people./ag 3 &I & FHeY WFI HT HIHE b

D) It is accountable/TJg S&E <@l &Il &

SECTION-B / @3- & (18x0.8= 14.4)

Assertion and reasoning type 22 questions given below . Attempt only any 18 questions./ &¥sT
3R HROT T IMERA For 22 9o &0 § IS 18 Fe&l & S ATy

Que.25- Which longitude is not related to our country? /&l & AR IWT R T T 18T 872
A)37°6' E/ qdT. B) 68°7'E/ qdf

C)82°5'E/ . D) 97°25'E/ qdf

Given here Assertion(A) and Reason(R) based questions from( 26 -30) select the correct answer

for these questions from (A). ( B). (C) (D) as given below .
u%TqTanm(A)WW(R)WW%WWWWW'@W(M (B) (C) (D) & &Y
A) A and R both are correct and R is correct explanation of A./ &J(A) 3R &RUT (R)3iR
gl TEr § FROUT (R) FUA(A) FT TEI ATEAT FAT g

B). A and R both are correct but R is not correct explanation of A/ U(A) 3R FRONR) al=AT
eI W FRUNR) HUA(A) T & ARAT A& LTl g

C) A is true but R is false./ A &I § afdhad R red g

D) A is false but R is true./A 3Teid § ofehed R &l &

Que.26- Assertion- The value of tropic of cancer is 23.5N/ FUe - & (@I HT AT 23.5 3T
Reason- The tropic of cancer passing through Gujarat to Mizoram/ $RUT- e I@T [T T g
e d& S &

Que.27- Assertion- Raw materials and money in hand are called working capital./ U - FHTd
AT 3R Al 1 foharelier gai & &)

Reasoning- Money is always required during production to make payments and buy other
necessary items./ HRUT- 3cUIGa & FHT FAT &I HAFRAT I o dAT HaTh FAW TIEaA &
forw

gscl g

Que.28- Assertion- Tithe tax received by the church from the third estate/. F¥e- TT EART AL
a9 § T3y X o ST |




Reason- The people of third estate are peasants, teacher and advocate./ RUT -d&R do7 # fhamET
eI 3R gehrel 3T g
Que.29- Assertion- people elected their rulers./ 3T3sI- STAdl A9l ATHE FHT AT Xl Bl
Reason- Highest power in the hand of people in democratic country./ HRUT- Alhdiach G H
gafea afdFd Jadr & gra # gidr g
Que.30- Assertion- Democratic rights we enjoy today whos origins could be traced to the french
revolution./ HUel- THAT & eNhcliFh IARRT FT Sfedl HIF A Hifd & g3

Reason- The right to equality and the right to freedom of expression. /RUT- THATIAT I TSR
3R srffeafFa v e
Que.31Que.26- For green revolution farmer used H.Y.V.of../gRa wifd §q fhamit & v, arg. &
........ F1 39T foRar
A)Seeds./ drsT B) Fertilizer/@re
C) Weedisids./GITddR =TI D) Pesticides/ @hicsTereh
Que.32-Which estates enjoyed privileges by birth?/ @i &T 3T Sed & IHT &7 Slde] el HLAT ¢
A) Clergy./drelr B) Nobility/FelieTclr
C) Both A and B/ A 3R B gm=r D) Neither A Nor B/sT A &7 B

Que.33- Match the following in right way/@gr g fHem3

1) France become a republic./Shi IOTAT AT a)
1793

2) Napoleon becomes emperor of France./@9lfeideT WA & THC el b)1792

3) The reign of terror./3TTde 31Tdeh I ATHISY C)
1804
A) 1-a, 2-b,. 3-c. B) 1- b, 2-a, 3-c

C) 1-b, 2- c, 3- a D). 1-c, 2-a, 3-b

Que.34-Which one is not related to national anthem of France?/la %Hi& & ISeNT ¥ T el
X
A) Roget de L' Isle/. I3 & o 3T B) Marseillaise/ARf&ear

C) Jan gan man./STsT 30T #AA D) Paris/ai&

Que.35- X) Louis XVI belong's to bourbon family./dqs ®ielgdl SRe= a2l & ¥ |

Y) Rousseau composed the social contract./&Ri =7 TATATTGT FHSIAT &I fordT |

A) X and Y both are correct./taq 3 ar$ gl T

B) X is correct and Y is incorrect./ta® 3R a$ gt ITeId

C) X is incorrect and Y is correct./UdH ITeld & 98 T &

D) X and Y both are incorrect./teg 3R as gl Terd

Que.36- A country who's people do not accept the country's official religion .that country is.../Teh
S STET & AN FT A FT I INAFRF & &1 TR & |

A) Democratic and Secular /a&difas 3R gafeRyeT B) Undemocratic/3TaliedifIeh
C)Democratic and Undemocratic both/elierdifae 3R oliehdife  D)None of these/3eT8 & HIg =Tgl
Que.37- In which country women do not have right to vote?/f& 2 & ARG FI alc ot Fr
HRPR FTE §7?

A) India. /$TRd B) France/ssi®




C) Saudi Arabia./@3d! 3RE D) South Africa/gfaror 3rshrer
Qoe.38- What is Zanu- PF?/Sile] -4 T &7 §7?

A) Political party of Zimbabwe/fSiaTed &T Teiifas drér

B) Political party of Pakistan/dTfehedial &r Jeteiifcieh Tl

C Educational institution of Zimbabwe/fSiaTsd & AT TTATT

D) None of these./318 & $Ig =TgT
Que.39- Which country became independent on 26 April 1994?/26 35el 1994 &I HiT AT ¢ FTaAT

§'3-1T?
A) India./sRd B) Pakistan/ dGTfehEdre
C) Bangladesh/dalcer. D) South Africa/gfayoT 375hrehr

Que.40- Heart of contitution is.../gfa4rsT T g9.........

A) Fundamental rights/Hifere 31f%R.  B) Fundamental duties/#@ifore ed

C) Directive principles./sfifa f@ders dca D) Preamble of Contitution/TfaeIe sl JEATd=IT
Que.41- Match the following with correct./@gr Siis fAeS

1) Motilal Nehru./Alciellel @g® a) Prepared a constitution for India in 1928/ 1928 # R &
fore dfaersr fasfor

2) Sarojini Naidu./&UfS=T =g b) Chaiman of drafting committee/ST®q TfATT &
et

3) Dr.B.R.Ambedkar./gieex &3, 3id5a c) Mamber of the constitutional
assembaly/ATaETA THT FI TGET

A) 1-a,2-b, 3-c B) 1-a, 2-c, 3-b

C) 1-c, 2-b, 3-a. D) 1-b, 2-a ,3-c

Que.42-Which of these is a provision that a Democratic constitution does not have?/3d# & @i
Alehdifaeh ATAETT T TIET gl g7

A) Power of the head of the state./ fFd #T HET &g T

B) Name of the head of the state.RTsg &1 AFd T Hg afFd

C) Power of the lagislatur/faenf@er & afea

D) Name of the country./&2T &T =T8T

Que.43-"Two treatises of government' book is written by ..../T && 3TH TEAHTEF IES...

A) Jems mill/siFg AT B) Rousseau/&ar

C) Mountesquieu/AT3ETHFY, D) John Locke/SITsT olTeh

Que.44-Feudal system related to../dTFHdr cgaTdT & AT ...

A) political and social system/RTstelifae 3R TGS cgawam B) Political and Economic
systemRTsT=iitae 3R e cgaear

C) Economic and Social system./3fd& 3R @mefae sgarar D) None of these/3a# & HIg =TgT
Que.45- 'Reign of terror' is not related to.../31Tde T TMHGT A8l Jarad §

A). France. /%r g B) Maximilian
Rebespierre/AFafaforas (e

C) Napoleon Bonaparte/aqiferdsl SiTITE. D) 1793-1794

Que.46- Which one is not a organ of government/ldl TIHR &I 37T A6l &7

A) Judiciary/=aTaaTiere. B) Exicutive/aridTiersr




C) Lagislatur/caaz2miier. D) presidentRTsgufa

SECTION-C/@s -d(10x0.8=8)

Case based 6-6 questions in both passage attempt only any 5-5 questions in each passage./
The various activities have been classified into three main sectors i.e. primary ,secondary and
tertiary. Primary sector includes agriculture ,forestry ,animal husbandry ,fishing, Poultry farming,
mining and quarrying. Manufacturing is included in the secondary sector, trade, transport,
communication, banking, education, health, tourism, service, insurance, etc are included in the the
tertiary sector.

fafdesr arfafaferat @ 3 Fea &l 3 gufds | gfadae iR g # guffea frar mr § |
WIHAE & H FV , dlellhl IOTAd , HEF Tlelel , FHC Ulelel , Telel IR 3cWedaT AAST g |
fafaar areaf@e a7 & A § | @R, 9Raga , TR, SfFe, Qe oy [ wWed, dar S
Ty g & o anfar

Que47.- What are the various sectors of all the activities?/@s frar3it & faffier &7 Fia-dla &
g7

A) primary, secondary and Service/drafie, gfadae AR dar

B) Secondary, Tertiary and Service/gfdcide Jeirde 3 dar

C) Primary, Secondary and Tertiary/Taif@es, gfdciige 3R Jdiias

D) Primary Tertiary and Service/sTaffish, e 31 dar

Que48.- Which includes in primary activities?/9raffe fhame aia g2

A) Agriculture/&H¥

B) Forestry/deTdarsir

C) Fishing/#c¥T Yrelel

D) All of the above./39ded &sft

Que.49 - Manufacturing included in which Sector?/fafa&or & Fefaa #ia &7 §2

A) Primary. /araf@s B) Secondary/giadiash

C) Tertiary./qcie D) Non of these/gs & &I =gl

Que50.- Which is not a part of tertiary sector?/@lsl Jciiaeh &5 & gl §7?
A) Transport. /& E9IE B) Banking/df&ar
C)Health/earess D) Poultry/saff arer

Que51.Whch one is different?/3s13] &l f&aT &7

A) production of gold/&/AT 3cdTesT

B) Production of Iron/eligT 3cqrget

C) Mining/@dlsT

D) Production pf clothes/@& 3cdice.

Que52.-Vilas was working in which Sector? faema @ &1 & wRRA ar?

A) Primary/arafas. B) Secondary/giddiash

C)Tertiary/qciaeh f) None of these/sald & &IS =TgT

The Indian desert lies towards the western margins of the Aravali hills.lt is as undulating sandy
plain covered with sand dunes. This region receives very low rainfall below 150 mm per year. It
has arid climate with low vegetation cover. Streams appear during the rainy season. Soon after
they disappear into the sand as they do not have enough water to reach the sea .Luni is the



only large river in this region. Barchans(crescent- shaped dunes) cover larger areas but
longitudinal dunes become more prominent near the Indo-Pakistan boundary. If you visit

Jaisalmer , you may go to see a group of bachans.

HRATT ATTY ST 3RTTT YISl oh IIRaHT fohallX T 31X TEUT § | TG I & Elcll Tl Teh oIgRGR Yol Al ¢ |

wmﬁﬁﬁlsoﬁﬁﬁmmwaﬁgﬁr%l gHhI STCIATY & Tl HTAOT & HIY Yoh ¢ | aTRA &

mﬂﬁwﬁ‘@rééé’r%lmﬁéﬁﬁmﬁaﬁ%ﬂ%ﬁwm%mﬁ%ﬁmmmaﬁ

BT & | T 5 &1 Y UhATT 98T A1GY & | ST (TFTHR e @aﬁﬁwmfammﬁaa

:ggmmma?wmms’raﬁ%l e 3T AR ST &, ﬁmaﬁ%wmﬁa@ﬁm
|

Que.53-The Indian desert lies towards the western margins of. /$TRA & IFEdT Fas IRTATR
fFa o &2

A) Aravali hills/3RTae) Tgrf2ar. B) Nilgiri hills/=erfidr gerzai

C)Shiwalik hills/fRrarferer ggr1fs. D)Vindhya hills//d&g ggrfsar

Que.54-The Indian desert is also known as/3TRdT AXEAS ST SATAT &

A)Gobi/an. B)Sahara/dgRT

C) Thar/aR. D) None of these/3sT3f & HIs =TgT

Que.55-The region receives very low rainfall below.............. per year/dg &7 yfaay........... T A
el grod aRdT §

A)150mm /fFeiseR. B) 150cm/#drex

C) 100mm/fAel #Hex. D) 100cm/&dreT

Que.56- Barchans are........... shaped dunes./dR=E f&d 3R & 5TH g7

A)Round/aliel.  B) Crescent/318 gk

C)Semi -circle/3T8Tgd 3R D)Hexagon/3ses{eTr &R

Que.57- Largest river of Indian desert region/sTRAT I & A F37 oler

A)Ganga/3aTr. B)Yamuna/a#=AT

C) Luni./eltst D) Ghaghara/aTeRT

Que.58. Most area of Indian desert are present in which state/$TRd & IAEdT &1 FaIfO* &7
ro s & &2

A) Odisa. /33T B) M.P./#A%T wear

C) Rajasthan/TSEYTS. D) Punjab/dsiiar

SECTION -D/ Ts-g (2X0.8=1.6)

Map work/ATART &y

This part have two questions both are compulsory/s8 #TeT & & U & ar 3faarT §]
Que.59-. ' X ' is the state having its capital Gangtok./'X' ag =T § ST T IS § |

A) Asam/3T8H. B) Sikkim/fafFsa

C) Manipur/AoT9R. D) Mizoram/fA<ier

Que.60- 'Y" is the mountain range present in Laddakh./' Y' dear@ # Teh qdd H@ell B
A) Karakoram/&RT&RH. B) Aravali/3RTaeir

C)Anai mudi/31=Tg 31‘5”[ D) Vindhya/faea
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